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Question Number : 1 Question Id : 7164471501 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Census of India 2021 will be the census of the country.
2021 o8 asrer O8) 0 3708 @2 T8) .
Options:
i,_]_TIl

1. = 145



155

? % 15 &

jﬁﬂl
3. v 16

17%
4 = 17D

Question Number : 2 Question Id : 7164471502 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

European explorer Vasco da Gama discovered a sea route to India in:
CLPTDON V(NN T CEIPIR 2reBdTIS DADVEG Hrged) S sPeo0:

Options:
1. v 1497-1498

7 % 1492-1493

3. % 1471-1472

A, % 1456-1457

Question Number : 3 Question Id : 7164471503 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

"World Water Day' is observed annually on:
DD VoDB00 & Berd "0dod 20 HIByD0" BMHIDLIPD:

Options:
2 August

1' “ Efjﬁ"é‘l'}



21 June

7 ow 21w

14 February
3. % 14 2800

22 March
4 v 2e 53}“@-1:]

Question Number : 4 Question Id : 7164471504 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Sikkim became India's protectorate in the year:
2POBEF0 308 648 Frodo(TBLOS)T D) o0 S DoDBYG0S” Drod:

Options:
1. = 1947

7w 1950
3w 1955

A % 1960

Question Number : 5 Question Id : 7164471505 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The first Asian Games in 1951 were held in:

1951 &° Do) esmair Scen Qg€ 26rro:

Options:
Tokyo

1.« 95§



Jakarta

D x 2T

New Delhi
3. v 50

Doha
4 = &8

Question Number : 6 Question Id : 7164471506 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 1972 Simla Agreement was signed between:

1972 230 2sdyodso € Totd B7 e el DodSo Soberc.od:

Options:
India and Pakistan

1. v DOGD30 DOOID SPEFD

India and China
7w WPOBGI0 SOOI BT

India and Bangladesh
3 x ePOSBCyE0 0B LT

India and Afghanistan
4 = POBBT0 OB IQIFD

Question Number : 7 Question Id : 7164471507 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The World Bank was founded in the vear:
D00 e7§05 ZFDOBEICD VoD To:

Options:



1. = 1947

3. % 1950

4« 1944

Question Number : 8 Question Id : 7164471508 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

An atomic bomb was dropped on Nagasaki in August 1945 by USA. Nagasaki is located on which island in Japan?

estig 1945 &° USA, -8 2,8 et er0enidd D008, 270 67 J &00S” T8 &od?

Options:
Kyushu

1. v 3@

Hokkaido
I % a’j?*sﬁbcmﬁ

Honshu
3 = ;ﬁ'ﬁ“’

Shikoku
4 x 2DFD

Question Number : 9 Question Id : 7164471509 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Indian political party 'Indian National Congress' was formed in the year:
POS TraS0 ) 'R0t oM NS 500N $0b 2 mutm:@_jﬁoeﬁ‘ Bdﬁéoﬁh:

Options:



1.« 1885
7 % 1888
3. % 1895

A % 1903

Question Number : 10 Question Id : 7164471510 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who became the Prime Minister of Sri Lanka in November 20197

2019 Ho0e3665° w08 DD JadD?
Options:
Mahinda Rajapaksa

1 v S0RT0c T3y

Gotabaya Rajapaksa
7 % Feecd oadsy

Maithripala Sirisena
3 x 208TO DFD

Ranil Wickremesinghe

4. x 063 DED0D

Question Number : 11 Question Id : 7164471511 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The '"MITRA SHAKTI-2019' was a joint military training exercise between:

‘Dogr 35 -2019(MITRA SHAKTI-2019)" @958 € Dot &70) a6y (o &) & DS 6w 50800 (aronoth Doeed
B00 Qgﬁbﬁ):

Options:



India and Nepal
1. % 2roodFo dodatD DS

India and Sri Lanka
Y o DPOODI0 SBOID FOos

Sri Lanka and China
3 % 3008 doRD BT

Nepal and China
A % VTS oboio I

Question Number : 12 Question Id : 7164471512 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 50t International Film Festival of India was held in in November 2019.
2019 22902266°, 50 O e20BTB0D S0 DF Do &5° 28008,

Options:
Mumbai

1 % EIDOQ

Chennai

7w Dy

Goa
3 v Bor

Hyderabad

4. & TETEPS

Question Number : 13 Question Id : 7164471513 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The Andhra Pradesh Government launched the Wadu-Nedu' programme in November 2019, which is related to:
e3050B% DELAL0 2019 d0ede” - TE[EATI) JFr60DoD0d, Ad HIS DoeIoBODDHO:

Options:
school education

1 v TR e

industrial development

2 OFE DD

agricultural development

3« SISV RTTAT N A

smart cities

4 ® 3‘%@ ?JGBE_D

Question Number : 14 Question Id : 7164471514 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Bougainville Island became the world's newest nation in December 2019. Earlier it was part of:

Eroeb 2019 €5° Hibowoel D HOF e Haorr 57110 DT &5&’)0 29383000006, 90850t Wb e5° e3(io:

Options:
Australia

B DOIT
=1

New Zealand

% u Eﬁjﬂéaﬁﬂ“ot’f‘.

Papua New Guinea

3 FeNaT Aoy AT



Indonesia

4. % @ofShoir

Question Number : 15 Question Id : 7164471515 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following was NOT awarded the 2019 Nobel Prize in Chemistry?

BP0 IS TP 2019 S8 e30aDB, & $0d 7885 IS DT H?

Options:
John B Goodenough

1 % =D radd

M Stanley Whittingham
7 % M D Dogian

Akira Yoshino
3 % 8o orad

Peter Handke
4 b 508,

Question Number : 16 Question Id : 7164471516 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'JTannayak Janta Party' is a state political party in the state of:

‘2 oDE ade %“Q' 2908 & T°Ro 03IV, Trasai %ﬂg :

Options:
Rajasthan

1 = G"E&:‘g‘%%

Maharashtra

DOTY



Karnataka
3 ® gg“'ﬂdé

Harvana

4 v Wéaﬂ

Question Number : 17 Question Id : 7164471517 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The anniversary of the adoption of the Indian Constitution by the Constituent Assembly was celebrated on

26 November 2019.

26 Haooead 2019 2, D"&E“?S{)ﬁ 2, ePoes UD&SUﬁor'i“:i’i}i 3}5éﬁo£}aﬁ augéf'@g{)om BN SI06.
Options:

68Th
1. = 68&

70t
? v 0D

TIST
3.8 7M1a

Question Number : 18 Question Id : 7164471518 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who became the first Indian cricketer to bowl 3 maidens in T20 International Cricket in September 20197
2019 301665, T20 eﬂo@gne‘ao:b 8565¢5° 3 DoAY eFDofl 0D FY 2768 §306 IHW?

Options:
Deepti Sharma

1 v & 30)



Mithali Raj
7 % oodod

Jasprit Bumrah

3 200D LVJT

Ravindra Jadeja
4w ODog 2l

Question Number : 19 Question Id : 7164471519 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Select the site, excavated by the Archaeological Survey of India in Andhra Pradesh in 2019, that was unearthed as a trade

centre of early historic period.

2019 &° e50GDBTS’D e58) IrORES VO] 1D QOC.OT® BI(SY’, WPO] TOTE)E SerdS DodD el Sogorr
E0DLDED PETI) JocFol?

Options:
Adurr

1. % B@O

Rajahmundry

7 % TG

Gottiprolu
3 J, Ff%;}@ﬁf‘_l_'}

Madakasira
4 % DoE8I0

Question Number : 20 Question Id : 7164471520 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The Andhra Pradesh Government launched the "YSR Vahana Miftra' welfare scheme which provides an allowance of
per year to drivers of autos, taxis and maxi-cabs.

€I0G5BT DEDLBLO, 'DADLDIE TP DT 9D VOED VDETD) FC0DoDH. @b estien, &r8yen BT S8y

=gl g DB VODSYO"IS ALLIRS IS IAT VAR

Options:
1. « %10,000

7 % %15,000
3 % ¥20.000

4. % 12,000

Question Number : 21 Question Id : 7164471521 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 2019 Asian Archery Championships were held at:
2019 e5203 €560 FPoDoDINDD QK E 28rPo:

Options:
New Delhi

1, 375E

Bangkok

2 o E.F?SOE‘@

Manila

3w der

Beljing

A % Deod

Question Number : 22 Question Id : 7164471522 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The Conservatives won seats out of a total of 650 seats in the British House of Commons in December 2019.

2019 Grooeb &, DOHD TPO 5D eSOy G, Do 650 HEES® EHTED (HoHTEaHT R Jew e
ﬂwﬂ:vs:'a'lm.

Options:

1. = 380

27 % 202

3 x 318

4. « 364

Question Number : 23 Question Id : 7164471523 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
In November 2019, the Government of India approved the establishment of the National Institute for Sowa-Rigpa in:

0236 2019 &°, TFar-0rry FOLH D0 @D TR 2P0 HEBLo G0 BODD HB3o0:

Options:
Leh

1 v oo

Jalpaiguri

2 ® E&ghma

Kurnool

3. " édﬁnlw

Coimbatore

] % Foboedrd

Question Number : 24 Question Id : 7164471524 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following is the first Hindi newspaper in Arunachal Pradesh that was launched in November 2019?

Sodartded” DO 2019 DH0eabed’, eatheaeed pRTS” ArCtoDodH AW 10l TPTPIRE?
Options:
Arnuna Khabar

1 = et )0

Aruna Patrika
7 % 000 DAS

Aruna Samachar

3. % eathe Darerd

Arn Bhoomi
4. e e

Question Number : 25 Question Id : 7164471525 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Tiger Triumph' exercise organised in November 2019 was a:
Haoed 2019 €5° BT 'Bi6 eoswod(Tiger Triumph)' s=6jgso edb:

Options:
joint military exercise between India and USA

1. ¢ 2RO T0 003D A &‘1)(:’}5 =0Talaly] Eﬁ)&&. 70008 5""{5555?1_‘10

joint military exercise between India and Japan

7 u 2GS To SB0IL Baro 206 SOOBRD V)G IS SEE[Sa00

3. %

joint tiger conservation exercise between India and USA

ZPOBBT0 SOOID TNV DG HOVD &) E e Pooges(zronotd G016 sgﬁgaé} 5°0{Sa00



4, %

joint tiger conservation exercise between India and Japan

ePOOBTo S0BOIL 2aro 206 OB eV Yevw oo g (2ot £ 5@65315} 50§80

Question Number : 26 Question Id : 7164471526 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Meat is a good source of:

AT020 HDE HDod) SaTrerrdo:
Options:
Vitamin A

1. = ooono A

Vitamin C
? w D C

Vitamin E

3 % Do E

Vitamin B12

A v D05 B12

Question Number : 27 Question Id : 7164471527 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The full form of PSLV is:

PSLV (22228¢) chog) DG cmdo:

Options:
Polar Satellite Landing Vehicle

1 = Derd OIS erjocioh DarseS

Polar Satellite Launch Vehicle

7 Terd TOHTS rod DarsSd



Polar Space Landing Vehicle

3 « “Ferd 2D ergocoh Daees

Polar Space Launch Vehicle

4 = “Ferd 00 Trod Dageses

Question Number : 28 Question Id : 7164471528 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which was the first computer virus that was created by two brothers from Pakistan?
FEFD 00l RGHM FBELD 2REDRD DY SoFHS DOD BT

Options:
Blaster Worm

1.« TG

Trojan

2. % &ad

Rootkit
3w dmed 865

Brain

1 v EI0000

—

Question Number : 29 Question Id : 7164471529 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is the satellite that was launched by ISRO in November 2019 in the 'Cartosat' series?
& So& ae” 2019 d0ede”, SF IS DOIS” @Y DOTHODN EDHT0 IB?

Options:
Cartosat-1

1 ® S‘*Eﬁ:ﬂ“lﬁ—1



Cartosat-2

2 ® E‘*Eﬁ:ﬂ“ﬁ—z

Cartosat-3
3 7 S"ﬁb: ﬂ“E'S -3

Cartosat-4
4 ® S"Eb: .3“6'5 -4

Question Number : 30 Question Id : 7164471530 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The web browser "World Wide Web' was invented by:
'S0 DE D' 9D De) Fad DB SfTdeciod:

Options:
Tim Berners-Lee

1 v ANy ﬂﬁlﬁb—ﬁ)

Maria Garcia
2 % abohTe TTDBDCCUD

Francis Crick

3 . TP

Stephen Jay Gould
4 « OS2 0Y

Question Number : 31 Question Id : 7164471531 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

1024 bits is equal to how many bytes?
1024 De5y 2Dy B D07

Options:



1. = 1 MB
? = 128MB
3 x lbyte

4. » 128 bytes

Question Number : 32 Question Id : 7164471532 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The headquarters of Microsoft are located in which state of USA?
DETD G PErd TTomgoao USA 6°3 D oogjoes” €obd?
Options:
New York
1. = ROP[00°0),

Washington

]
2. v Eﬁ“ﬂc}gﬁ

California

3 % Enﬁ}ﬁ‘ﬁ;lmj“

Pennsylvania

4 ® 33:_3:}65:}033“

Question Number : 33 Question Id : 7164471533 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Who was awarded the 2019 Nobel Prize in Physics for “theoretical discoveries in physical cosmology™?

TG DFEHD TR0 PTPoAS 5Dy, 0eeed (HATTBDEES i HBD @D HBES U 2] SV FAE T’

2019 J&e5 exarosnd JHd3 edododH?
Options:



James Peebles

1'&? 535}:}‘33&})&5;}

Abhijit Banerjee
9 5 0D 89

Esther Duflo
3 x J6 cfa@ﬁ

Michael Kremer
4 = 203 5a0d

Question Number : 34 Question Id : 7164471534 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Blood cancer is also known as:
ec_gé Bﬂéaﬁbﬁa’n e S eaobd:

Options:
allergy

1 we_&ejg

scleroderma

(S Rel~lepl

leukaemia

3 v enddoair

haemophilia

4 = rarodoir

Question Number : 35 Question Id : 7164471535 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following companies made the first commercially sold computer hard disk drive?

D00C58) AP ED Tedey SoRrged D8 AT & D Sod @ E0d) BHOIFHDNG?

Options:
IBM

1. v 2dDIa0

Sony

7 x D

Lenovo

3 % O35 (Lenovo)

Microsoft

4 = DEFY

Question Number : 36 Question Id : 7164471536 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the INCORRECT pair of 2019 Nobel Prize winner and his’her achievement.
2019 Se3e5 £2:70208 (ores SO0ID 963330/ 520 FPHoDD Daoho 308, WO RS0 Dot ol

Options:

1. =

William G Kaelin Jr. - For their discoveries of how cells sense and adapt to oxygen availability

DB00 & FOD erDHONG - Lrren 3B VLB JU° JRPPOTr QBKD Jer AEBIPOIr oo E6L B

eI, OEe0) 820

Akira Yoshino - For the development of lithium batteries

980 A3 - DA erttade Foth S e0dand8 00
? % 1) NG



Michel Mayor — For the discovery of an exoplanet orbiting a solar-type star

g D3S Doawb - JG-050 DEG S51S° &) IE TS ohng) Dy oee Edo

4 v

Olga Tokarczuk - For discovery of black hole gravity and related fundamentals

a7 65°57E08 - &8 TS (DEOTE(EGEs SDBOID D0eX0AE DOEDV0ISY VS, 3D e Edo
8] ) = ol )

Question Number : 37 Question Id : 7164471537 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Dushyant Chautala is the co-founder of which state political party?
DD Forer, 2 T°a) PRS00 ord AB0E), W a::?gaﬁﬂ;}g}m?
g = =
Options:
Jannayak Janta Party

1 v 2 005 2T 3@

All India Forward Bloc
9 i U @olorr O &8

Rashtriya Lok Dal
TR0 &5°565%

Lok Janshakti Party
4« 582393 ¥

Question Number : 38 Question Id : 7164471538 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is also known as 'Andhra Kesari'?
DB "es06) THO' 9D G DEVJE?

Options:



Gouthu Latchanna
1 " (TehD &Jfﬁaaﬁ‘l

NG Ranga
7 % De.d.Co0

Tanguturi Prakasam

3 v &orDeard H5eTFo

Potti Sreeramulu

4 % ﬁ“é& \%?D“&lﬂ"&.l]

Question Number : 39 Question Id : 7164471539 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the first governor of Andhra Pradesh?
eF0GNDT DG (D0Y6 DD ?

Options:
PA Thanu Pillai

1 « o @mbgﬁ

Gen. SM Shrinagesh
VP x @D0S SM D

CM Trivedi
3 v CM 506

Bhim Sen Sachar

A DD Db

Question Number : 40 Question Id : 7164471540 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which port is protected by the Dolphin's Nose Hill in Andhra Pradesh?
e5080BTSD ThYDy 8D S ooor D LB 6Locercod?

Options:
Visakhapatnam Port

1 v TN 0 EXte )

Gangavaram Port

P x (1001000 LB

Krishnapatnam Port
3« SHae o LEBY

Kakinada port
4 = S8 E SGETa

Question Number : 41 Question Id : 7164471541 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The Scindia Steam Navigation Co. Ltd. (now known as Hindustan Shipyard Ltd.) was founded in the year:

20HOIP Ho TIAND §. DOE (DR0se HBID roturd DOAFG DIOE 9D DRV D) .g"ﬁ}orﬁm(ié QodSyGo:
Options:
1. = 1935

7 % 1966

3.« 1941

4. % 1956

Question Number : 42 Question Id : 7164471542 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

According to the 2011 Census of India, what is the female literacy rate of Andhra Pradesh?

2011 2108 axrer OS50 D5°00, BoFRRT AVTPY® BETPRD GL Jo?



Options:
1. ¢ 59.15%

7 % 74.88%
3 % 67.02%

A % 62.06%

Question Number : 43 Question Id : 7164471543 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Prime Minister Narendra Modi had laid the foundation stone of Andhra Pradesh’s new capital Amaravati in:

PEEHED0 AT DG, esodind® o Trarrd ess0Tradd ()rATroD (r‘ao;mg”bé) DD Taw:

Options:
November 2015

1. & ~o0exd 2015

July 2015
7w @rg 2015

October 2015
3 o P_‘)gmﬁ 2015

August 20135
4 = estigo 2015

Question Number : 44 Question Id : 7164471544 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Amma Vodi’ scheme is related to which of the following states?

'e_amé 28 Do & 30H D D‘*Q‘“L’}é 2008000 ?

Options:



Harvana

.

1' ® -:J‘"U‘;SH“

Tamil Nadu
7% SOVRRD

Karnataka
3' ® gg“ﬂdg

Andhra Pradesh
4[ v E.'FDQ@&%

Question Number : 45 Question Id : 7164471545 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The full form of 'E-Governance’ is:
%9-(300Y Oy G3ng), P8 drdo:
Options:

Electrolytic Governance

ngﬁiebé (1238

Electrolysis Governance

Dt:gtﬁafo ﬁ.;jﬁelib

Electronic Governance

3 ;)-ugs“ﬂé ﬁaﬁﬁléﬁ

Electric Governance

A x Dﬂ%é ﬁﬂﬁléh

Question Number : 46 Question Id : 7164471546 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33

A circuit bench of the at Port Blair covers the jurisdiction for the Andaman and Nicobar Islands.
£90¢55°0 a0Bain DEers HapHo aﬂgcﬁ)g“é OSC HBBD T Bond DG DD :omubﬁeﬁ Bod £9A eod.
Options:

Calcutta High Court
1 » Svsz S

Delhi High Court
7.« CREED

Supreme Court of India

R
3 % 2P OED n:u_'}gr:@g)

Andhra Pradesh High Court
4« BOENOT S

Question Number : 47 Question Id : 7164471547 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of December 2019, who is the Education Minister of Andhra Pradesh?
2019 CRooeb 83, 300007 TPy DO 008 dod?

Options:
Audimulapu Suresh

1. v @EIvOY BD

Anil Kumar Poluboina
7w e9de) 070 DeneSTondd

Mekapati Goutham Reddy
7 QD o 06



Buggana Rajendranath

1 % eV T°BoGdT O

Question Number : 48 Question Id : 7164471548 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Swachh Bharat Abhiyan' was launched on 2 October:

YDy TPOS edoirS' 2 e:)gim@ 2 arcodocderdod.

Options:
1. = 2012

2. v 2014

3. % 2016

A % 2018

Question Number : 49 Question Id : 7164471549 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

How many cities were selected in round 4 under the Smart City Mission of India?
3%9 26 Q0D 3D Qotair 300 4 & Focoes DD ATV JowE FFTW?

Options:
1. = 20

? % 25

3. % 15

4, v 09

Question Number : 50 Question Id : 7164471550 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The Legal Services Authority Act was passed in the year:
Deies 2BRD ITEO 380 S D0DBYG0ES” BsDTGoLsEIE0d:

Options:
1. « 1987

7 % 1967
3 = 1096

A % 1978

Question Number : 51 Question Id : 7164471551 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

"India. that is Bharat, shall be a Union of States" is written in which Article of the Constitution of India?

"QOROIR, R LPCH, T°gre) VOTFDFT &ord" D PGS Trarjorio LY. D &85S & FrobeddR?

Options:
Article 1

1 ¢ E.‘EQSE‘.? 1

Article 2
2 " E_FQSE‘EZ

Article 3
3 “ E_FQSE‘E}

Article 4
4 - 695854

Question Number : 52 Question Id : 7164471552 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



What is the text in the logo of 'Smart Cities Mission'?
'&ég POD HND' G 6D H3Do (B35y) DDE?
£
Options:
Smart City BEST CITY
2 . b
1 = JrL8 06 8 26

Smart City MISSION REFORM-INDIA
7 &ég P RS ﬁﬂ“ﬁé—@oécﬁjﬂ

Smart City MISSION TRANSFORM INDIA
7« FL5 DB DoND ey TG, @olodr

Smart City MISSION TRANSFORM-NATION
A o T8 OB 20 epSy 6 DD

Question Number : 53 Question Id : 7164471553 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who is the first lieutenant governor of the Union Territory of Jammu and Kashmir?
Zog3 ordS JroiRRd 2T & su%‘éﬁgg DG TR0 (190)6 JHM?

Options:
REK Mathur

1. = 68 re0b

Satya Pal Malik
9y DOy e DS

Girish Chandra Murmu

3 AOD 3ol VWY,



Girish Kumar Murmu

4 = A0S LoaTd Dy

Question Number : 54 Question Id : 7164471554 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

National Waterway 4 (NW-4) is being developed in the state of:
& 800 D TR’ 23050 2030700 4 (NW-4) Do BosoecoTob:

Options:
Maharashtra

SORFT

1. =

Kerala
? % Bow

Assam

3 ® Eﬂﬂ“ﬁ[ﬂ

Andhra Pradesh
4' v E.‘FD@Q&%

Question Number : 55 Question Id : 7164471555 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Sirasanambedu, Kovanur and Suramala are iron-ore mines located in the district of Andhra Pradesh.
RODHOBE, D6 aBOIL LDICEL QRN DI (TRLLD esoGnD 57D 2ere” eme)om.
Options:

Chittoor
1 " t‘n@“d}

Anantapur

7w esroeando



Guntur
3. % (Dhotard

Krishna

4. = S8

Question Number : 56 Question Id : 7164471556 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Andhra Pradesh Government launched the '"Manufactured Sand Policy' in the vear:

SoENAT VLB, 'BAITFHBVMD B DEHo(ATFRFENG Fol FOD) & 0D FGoDotlod:
Options:
1. = 2012

7 % 2010
3.« 2016

A % 2018

Question Number : 57 Question Id : 7164471557 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following steel plants is the 11-times winner of the Prime Minister’s Trophy for ‘Best Integrated Steel
Plant in India’?

30 S ot D& ‘TCBDBS” GO QOOIHE RS ol Fo HIEded aing), (0D 11 Jrd NenudHd &?

Options:
Rourkela Steel Plant

1 = 6r0) & %;;6 5ot

Durgapur Steel Plant
2 AV o8y s 2285 aro65



Bhilai Steel Plant
3 v A3 ‘%}JEE @"095

Bokaro Steel Plant
4. % AR=ie] %%J@ @«ws

Question Number : 58 Question Id : 7164471558 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Andhra Pradesh Mineral Development Corporation Ltd. was incorporated in the year:
I0GNBT DVCS CHVD Dots SFYTD DDOE DodeNGos” HODo Bavertod.

Options:
1. % 1955

%« 1961
3 = 1967

A % 1972

Question Number : 59 Question Id : 7164471559 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Airports Authority of India is a Central Public Sector Enterprise (CPSE).
DRI earde) e3D olairE e 0D 28 20885 HDS 26 JoddyE (CPSE).
R
Options:
Maharatna

1. % mﬁﬁﬂi

MNavratna

% % é&f}tﬁeﬁéﬁl



Miniratna Category-I

3 ﬂ;.f‘)d@ﬂ;l 36000 -1

Miniratna Category-II
4 = DoDCE) 306 |

Question Number : 60 Question Id : 7164471560 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Veliconda Hills are situated in which part of Andhra Pradesh?
DdFoc: Eocen 5080BS°D ) JFrodosS” &%) on?

Options:
South-eastern

1 v E‘j'ﬁ;lﬂ“ij

South-western

2. % Dewd

North-eastern

3 % éﬂ%‘“c‘ﬁé

NWorth-western

4 ® E“D:il'}-:f)é

Question Number : 61 Question Id : 7164471561 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 WrongMarks: 0.33

Which of the following rivers originates from Mahabaleshwar in the Western Ghats?

& 208 oo IO DI gD 0TI ol ey DoDod?

Options:
Cauvery

1. &= =26



Krishna

2 v 98

Bhima

3.« o

Godavari

4. & Horod

Question Number : 62 Question Id : 7164471562 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

'Thalghat' is a type of:
‘Berey 00 ox0s), 6So:

Options:
mountain

1. = E)dlsefm

plateau

7w DEEFD

mountain pass

3 v @Gﬁ@ Ilj“tﬁiﬂ

hill
4 = Bo&

Question Number : 63 Question Id : 7164471563 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following statements is INCORRECT with respect to Pulicat Lake?
P DGR3 Doerododd) 20T DE DOSIH?

Options:



It is an example of a lagoon.

1. = Ad a8 SocHiDE) &TFaroen.

It has saltwater.

2 % Qocies” e;@:jbm 208006,

It is located on the Coromandel Coast.

3w b Fonroce B0 eod.

It extended in the North-eastern portion of Andhra Pradesh.
4 v 20 SogHBT VL), SR 210" Ddood.

Question Number : 64 Question Id : 7164471564 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

'"Punnamada Kayal' is located in the state of:

D) ATE oS & D‘“‘E&;}O@E Eob:

Options:
Kerala

1. « Bow

Tamil Nadu
7% SRV

Andhra Pradesh
3' % E.‘FDQ@&%

Karnataka
4' ® gg“ﬂdg

Question Number : 65 Question Id : 7164471565 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Dr. Abdul Kalam Island is located in the:
56 g0 Sero é:s?.:::o 28 ¢ Gob:

Options:
Arabian Sea

1. % ©0Dair DawGo

Bay of Bengal

7 ROTTYRardo

Gulf of Mannar
7 « ﬁeﬁb €95 ECDFO‘LE-

Gulf of Khambhat
4 % ﬁeﬁ:j e35) 03D

Question Number : 66 Question Id : 7164471566 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Anaimalai Hills in the Western Ghats are also known as the:
DI EV0SD 9RVG WSy A R ST DRV

Options:
Elephant Mountains

1 v Da0H DOgEFeD (IBDoES DF0B)

Tiger Mountains

7 % 8016 DO@ren (S0 DT 0B0)

Birds Mountains

-6l E:rtﬁsww [BJQ &ﬁ“uﬁﬁg}

3 = )



Peacock Mountains

4 x DY HOYTEeD (o5 DT D)

Question Number : 67 Question Id : 7164471567 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following countries is NOT a part of the Indian subcontinent?

& 308 Do) arod eDpocoss” et 5O D67
Options:
Bangladesh

1. % EJDTEf:%‘

Pakistan

) . PP

Nepal
3 % 2

Afghanistan

Question Number : 68 Question Id : 7164471568 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which eastern coastal state in India has the longest coast line?

POBB305°D D By 86 T°Qo TEDD BoTPomd) SO €od?

Options:
Tamil Nadu

1. & asovword

Andhra Pradesh
2l v E.'FDQ@&%



Odisha
3 % adar

West Bengal

A % EJ%"{DECJL} eorred

Question Number : 69 Question Id : 7164471569 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

An area of land that lies between two confluent rivers is called:

Jodh Dotiav/ e Hohe s:u.:;azg &53;14 E_iPE,]‘-"ﬁ“f]tl esotIPD:

Options:
Prayag

1. % =03°0

Bhabar

2. % @eb

Doab
3 v &8

Khadar
4, 66

Question Number : 70 Question Id : 7164471570 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 WrongMarks: 0.33

How many Union Territories (excluding island territories) are located on the coast of India?
2POSET $00e3” Dy Sogarde Jromren (&5?.13 e andatonon)) &) 00?

Options:
One

1. = 286



Two

? & Ootd

Three

Four

A4 s Trenmd

Question Number : 71 Question Id : 7164471571 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Siachen Glacier is located in which range of the Himalayas?

ROIFPOD APATDNG0, SFPAFOITS) o 36365 aod?
Options:
Karakoram Range

1. » =06EC0 383

Zanskar Range
aaw.;‘:%é B3

Pir Panjal Range
3 x b Dozes 3

Shiwalik Range
4w J0°95 36l

Question Number : 72 Question Id : 7164471572 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Cherrapunjee is located in the:
SAleTN) o Tes QY &odx:

Options:



Jaintia Hills
-]
1 = 203003037 Jeﬁ;}

Garo Hills
2' ® ™0 ‘3]‘:"&5;}

Ziro Valley
3« 28 ogd

Khasi Hills
4 ﬁ? EiJ“‘%CI gT"E‘ﬁD

Question Number : 73 Question Id : 7164471573 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The full form of NDMA is:
NDMA g, 278 aro:

Options:
National Disaster Management Authority

1 v AN R0 ATDF 065 Tade )

National Development Management Authority

7 % DOV EDODY 085 AFDF 065 0906

National Disaster Management Association

7 % AN R0 ATDF 065 9 200N

National Disaster and Mitigation Authority

4 % AR G el RFND Tede)

Question Number : 74 Question Id : 7164471574 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
A computer system designed to store, manipulate, analyse and present all types of geographical data is called:

) 0570 FHYE Rerad D] BaDEIS, AT0yErIS, DFeSEEIS BOIL PEOHDEDSE ArTododls o3 ried

P & €908°CD.
Options:
1. v GIS

7 % GPS

3 % AOI

A % DEM

Question Number : 75 Question Id : 7164471575 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
According to the Bureau of Indian Standards, India is divided into how many seismic zones?

mﬁﬁ €99 Qoc.aiD Qﬂodg

ﬁ(a}ﬂtﬁ@ 2T m&ﬁ) 25°00, 2PCBLF0 Q:i)i ZrE0) swodierentr adiedocieitob?

Options:
Six

1. = esco

Four

Three
3% aar

Eight
A % DO

Question Number : 76 Question Id : 7164471576 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



Which of the following Indian states is vulnerable to Tsunamis?

308 21Ge TogPees” D& ROTPRVL BP0 HEDHI0H?

Options:
Uttarakhand

1. » 9T DC

Harvana

-

2' ® -:J‘“U"‘ZSE"'

Uttar Pradesh
3 x 6380 053

Andhra Pradesh

Question Number : 77 Question Id : 7164471577 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The headquarters of the National Cyclone Risk Mitigation Project (NCRMP) are situated in:
DD PE'D B, DBAND &5 (NCRMP) c3ns), oes seTrjoomio @8) & Gob:

Options:
New Delhi

1, v 522

Chennai

? % ey

Kolkata
3w B dor



Mumbai

4 W% MOQ

Question Number : 78 Question Id : 7164471578 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Bhola' natural disaster that struck the Indian subcontinent in 1970 was a/an:

1970 &° 206 &D0coes” Do) 'Eer RSN DD a0 s
Options:
tsunami

1. &= oo

earthquake
2' % 2S00

cvclone

3. v F®

landslide
4. & Focoboien Hadaco

Question Number : 79 Question Id : 7164471579 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
According to the Bureau of Indian Standards, Bhuj, Darbhanga, Guwahati and Imphal are places that fall in:

mg&f €35 oo Qﬂodg

;](e;rﬂcﬁej Ao arl) Ps°0o, ZHSE, ST 0P, TP HO0TL QoFS & DET VS &T=) o

Options:
Seismic zone V

1 v 13?:%5 &S (2o svoteo) V.

Seismic zone IV

7 % 13?:%5 S (Zorgod svoceo) IV



Seismic zone II1

3 % h?&ég D (e svoccwo) 1l

Seismic zone 11

4 % h?&ég D (2orond svocwo) I

Question Number : 80 Question Id : 7164471580 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

As of December 2019, how many battalions are there in the National Disaster Response Force (NDRF)?

2019 &20e6 P8, S Dk DADY0GD 5o (DN G0 5.3353 ﬁﬁ:}{NDRF )) &° Dy BerdaDI
ea*’:LmJ?
Options:

1. = 8

7 & 12

Question Number : 81 Question Id : 7164471581 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following satellites is NOT related to disaster management applications in India?
& S0H eDFeES” erCaBBoes” DD DO ODDGTOH Doeoso TG DE?

Options:
1. v INSAT-IC

7 % RISAT-2B

3. % INSAT-3DR



A % INSAT-3D

Question Number : 82 Question Id : 7164471582 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
According to the National Cyclone Risk Mitigation Project (NCRMP), select the group of states which has been

classified under Higher Cyclone Vulnerability States (Category-I) in India.
NS PED 67, DoBFRD & (NCRMP) 95760, eroodzod S0P TPV BendD Frozre (3006 -1) Sos
DOEBODIED TPEPe VAT JochFodl.

Options:
Maharashtra, Gujarat, Goa, Tamil Nadu and West Bengal

Q0RO DTS, e, DT a0dosin DD BorreS

Andhra Pradesh, Gujarat. Odisha, Karnataka and Kerala
% % RI0GINOT, (DRTD, 2.C7, ég“r‘:ué aboin 3oV

Andhra Pradesh, Gujarat. Odisha, Tamil Nadu and West Bengal
3 v eF0GIN0T, (DRTD, 2uCad, BT 803D ?&)%‘am £orTred

Andhra Pradesh, Kerala, Odisha, Tamil Nadu and West Bengal
1 = RI0GI0T, SOV, 2T, BT 80w ‘&:ri';’;}m Borred

Question Number : 83 Question Id : 7164471583 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
The National Disaster Response Force (NDRF) Battalions regional headquarters for Andhra Pradesh, Telangana and

Karnataka is located at:
0EHBT, BoOTrER OO ST°08 o ardol DG DAN0ES G¥o (NDRF) Berdoig grodoh HEed

S“Dﬁ?gucmo r‘aébcz, &old:

Options:
Vijayawada

1. v Daovorc



Kurnool

7 % Sdﬁlm

Bengaluru

3. % Borwrd

Hyderabad

A x TOTEPH

Question Number : 84 Question Id : 7164471584 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Chipko Movement' took place in the year in the Chamoli district of Uttarakhand.

'Y, &0, &BTPOE D WD 2erd” RoDENGoS” 20H08.
Options:
1. 1970

7 1973
3. % 1968

A % 1965

Question Number : 85 Question Id : 7164471585 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The headquarters of the 'Central Arid Zone Research Institute' (CAZRI) are located in:
‘2008065 9BE HD 8?0553 QergeS (CAZRI) 3L, PETd SO0 QL) ¢ &od:
[

Options:
Jodhpur

1. v 86356



Jaipur

7w &0

Karnal
3« QU“;LEE

Panchmabhal

A = Doddoared

Question Number : 86 Question Id : 7164471586 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following statements is INCORRECT with respect to 'ENVIS'?

‘ENVIS’ £ Doei0Ho) Sobdarédes” 250 D67
Options:
Full form is 'Environment Information System'

DT 085 ANTL D VP’ 9D A HFdarDo

Established in 1982
I x 1982@5?3\)0&5&&0&:

Established by the Government of India
7 POS DEDSL0D FDoIL0d

Introduced in the 5th Five-Year Plan

4 v 5 O oG PEFPES” PDIDLLIC D

Question Number : 87 Question Id : 7164471587 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

'Earth Day’ is observed annually on:
‘DG & (& &S@D:}o)' TN QI BANDB00A:

Options:



22 March
1 " 27 I}T@a

22 April
7 & 22 Dae5

22 May
3 x 22

22 June
4 = 22 S

Question Number : 88 Question Id : 7164471588 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following types of energy is suitable for sustainable development?

208 33 ozreEd’, DO “'n:n:%:rd Eﬂifjaj&%\é es g OO Gotod?

Options:
Coal energy

1. = O

Natural gas energy

2 % Q52 080 (P TTYR) 33

Petroleum energy

3 x 0 Dodo 33

Hyvdroelectric energy

4 v BODAND 35

Question Number : 89 Question Id : 7164471589 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



'Agenda 21" was declared in the:

‘eo@or 21' €5° HDeS® HEBosEEod:

Options:
Rio Conference

1' v Bo3r 5“53;]55:}

Kyoto Protocol

) . B P&'eS

Copenhagen Conference

3. % FoodMiN darodo

Cancun Conference

A w DTrPefHD DaTroBo

Question Number : 90 Question Id : 7164471590 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

What is the theme of the "World Environment Day' (5 June) 2019?
B0 DTG &S@Dpo’ (5 &) 2019 oang), Jdeso (H0) DDoed?

Options:
Save Our Planet

1.« oD 0dd IS

Save Tree and Life

9 % 0D ek g

Alir Pollution

3 D006 ﬁ“mﬁbﬁa



Good Earth, Good Life
4. = DE JG, (DE T

Question Number : 91 Question Id : 7164471591 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Water (Prevention and Control of Pollution) Act was passed in India in the year:
2POaF0eY” D (sreny Darces Swdatn Dotoges) 5o Sod “'njnaf}ejbﬁcejﬁ esO0IeIC 06

Options:
1. = 1954

7 % 1968

3. v 1974

A % 1983

Question Number : 92 Question Id : 7164471592 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The headquarters of the National Environmental Engineering Research Institute (NEERI) are located in:
NS IDTRD0S oaIBoh 6?\3513 adReeses (NEERI) o3g), 9570 somjooio a8 & &od:

Options:
Nagpur

1. ¢ 0 w0

Bhopal
). 5 B3

New Delhi
3 o= éﬁgd@



Bengaluru

A % Boriwrd

Question Number : 93 Question Id : 7164471593 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Brundtland Report' is also known as:
‘Bogeriol B D QP SrTE DRVFO:

Options:
Our Planet Future

1 x @6 VISR il

Our Comumon Future

% e9590 SPae E}j"ﬁtﬁﬁ

Our Children Future
9590 &g.% ?Q)ﬁér:ﬁﬁ

Our Happy Future
4 x e9:58 ?;}‘653} S e

Question Number : 94 Question Id : 7164471594 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'Red Data Book' is a document established by the:

BE T 0§’ 9D TEH D00 S0 T8 .g"fbmﬁmio&::

Options:
Wildlife Conservation Society

2T T EHTCND T8
1. = 28 €2 =808 o

World Wildlife Fund
9y DD D B



United Nations
3 % E‘JS}SU"E&S&)&)@

International Union for Conservation of Nature

4 v @omﬁiﬁ.‘_\@f}eﬁ CSaPD00R 0 égﬁﬁa.% 830 a0

Question Number : 95 Question Id : 7164471595 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The Comumission on Sustainable Development was established in the year by the UN General Assembly.

m?{gd D) 0D (RS EOODY 05 ) SN "n}o&')éjbtﬁoéé O30S 2GS e008)D gvﬁaoaméoé.

Options:
1. « 1992

7 % 1982

3. % 1995

A % 2002

Question Number : 96 Question Id : 7164471596 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The 'International Day for the Preservation of the Ozone Layer' is observed every year on:
LS T 0BOLE Edo 0d7raos) OSaybo' 8 DoddyTo & ez escidosecaod:

Options:
16 September

1 o 167R0e5

21 September

9« 2173006



12 September

3 4 12 dgoes

26 September
4. % 26 Pp0esd

Question Number : 97 Question Id : 7164471597 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following is NOT a main pillar of the Namami Gange Programme'?
30OTOS’ "dAFD (fofi Foro' A0, YT 9080 TS IB?

Options:
River-Front Development

1. % 020-208 CodVDDE

Ganga Gram

7 x (ot o)

Boat and Ship Effluent Monitoring

oy

3 v £5°e5 s0O0IL D DI DODEE

Industrial Effluent Monitoring
4 = POT DS D0 DOJDLE

Question Number : 98 Question Id : 7164471598 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who was the chairman of the World Commission on Environment and Development (WCED)?

D0 DT 0BT eai)aj&ga g (WCED) DOLD JDW?

oy

Options:
Gro Harlem Brundtland

f 200 eyotgol&



Ronald Reagan
2 % ﬁﬁ“ﬂé Brid

Alec Douglas-Home
3w T8 GO

Margaret Thatcher

A % Eflj"gﬁlﬁ A ATe)

Question Number : 99 Question Id : 7164471599 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the INCORRECT pair of the act/organisation/plan and its year of creation/passing.
$o0 ) &0 0/ oY/ VEFPS DOOIL TrD WyR/ VLD DHD LOJBNTOS” BB 2 JowwEol.

Options:
Environment (Protection) Act, 1986

1 = DOO0Es (0£es) 560, 1986

Central Pollution Control Board (CPCB), 1974
9 % So@ srenR)y Domoges od (Dw0d), 1974

Air (Prevention and Control of Pollution) Act, 1981

7 P03 {Svmﬁ.’gﬁ Daroes Soboin Doboges) o, 1981

Ganga Action Plan, 1982

4 v (loT SPO°fe30es DEFPS, 1982

Question Number : 100 Question Id : 7164471600 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following districts of Andhra Pradesh is NOT situated on the coast?
e50G00F 5D 300 2ered” DO A6 Frosods” Sen?

Options:



Chittoor
1. v DET®

Krishna
7 % 58

East Godavari

3 % APy b

West Godavari

4 % E')%"'(b&i} Slakte o)

Question Number : 101 Question Id : 7164471601 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following groups comprises of all the neighbouring states of Andhra Pradesh?

& 800 D DArSiOS” e0gRBT 030E) B TFXD Trgred &%) 00?

Options:
Tamil Nadu, Karnataka, Telangana, Maharashtra, Odisha

ST, Qgﬂ&}é, 23 )0TTED, mﬁn‘*;& 2ot

Tamil Nadu, Karnataka, Telangana, Chhattisgarh, Odisha

9 OV, SgOS, BoorTe, SADIE, T

Tamil Nadu, Kerala, Telangana, Chhattisgarh, Odisha
3 % OV, 30V, BooTrn, SBRAE, Wi

Tamil Nadu, Karnataka, Telangana, West Bengal, Odisha

1 = ST, Qgﬂ&}é, 23 )0TTED, ‘?‘.J%"z)m Botred, T

Question Number : 102 Question Id : 7164471602 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Which folk dance was earlier known as 'Jangam Katha' in Andhra Pradesh?

e50GDDTS” QOB Ao "2orfo £6' ) DB IDG B0 IO?

Options:
Kuchipudi

1. = SFQPE

Bhamakalpam

2 “ d;ﬁﬁ@a“eaéo

Veeranatyam

3 « e PO

Burrakatha
4. v 0056

Question Number : 103 Question Id : 7164471603 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the stick dance of Andhra Pradesh that is quite similar to the 'Dandiva’ dance' of Gujarat.
RT°S 008, 'TroC.ol 'HTRiAS DOTFIDOD Bognds ds), 98 tjdy (800 TRy )& docEod.

Options:
Lambadi

1. & eoerd

Bonala

7w e

Kolattam

3 v Berero



Dhimsa

4. % 8o

Question Number : 104 Question Id : 7164471604 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following acts was passed by the Andhra Pradesh Legislative Assembly in December 2019 that is related
to the protection of women and children?

SVPFED SDO0ID DYV CLLRL Doeodod), 2019 Eoeded’ erognd® TR0 & Job o’ B3I BRrdodod?

Options:
Andhra Pradesh Kanya Act

1. = £30C5003 S 340

Andhra Pradesh Disha Act
7 o e50NDT ok <80

Andhra Pradesh Nirbhaya Act
3 IOGNBT DO 380

Andhra Pradesh Raksha Act
4. = e50G0AT OF ko

Question Number : 105 Question Id : 7164471605 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Select the INCORRECT pair of the barrage and the district it is located in.
306 e t?ééai 080D & ey 2o IY), VBSD 2B JdochEod.

Options:
Sunkesula Barrage - Kurnool

1. = mfabmm mﬂéﬁﬁ E Smﬂlm

Prakasam Barrage - Krishna

9y O5°F0 502 - S



Sir Arthur Cotton Barrage - West Godavari

3 o 26 ﬁgﬁ SO0 ERBA - DI Boead

Gotta Barrage - Srikakulam
4 = Ff'ggv E:F'éﬁé - IsesHvo

Question Number : 106 Question Id : 7164471606 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Who among the following is NOT a Deputy Chief Minister in the present Andhra Pradesh Government?
30088 DS 50GHDT PILELOS” D DP[IVY I IHWD?

Options:
Dharmana Krishna Das

1 v cﬁnﬁéé é{:@é{ e

Pushpasreevani Pamula

7« FOLe Fored o

Alla Kali Krishna Srinivas

3 % OF =P SR AT

K Narayana swamy

4 = g oo 5“5&1‘1

Question Number : 107 Question Id : 7164471607 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Mallikarjuna Swamy Temple is dedicated to:

mg}gug)m &*5321) ese)ofio DOSE esodcho HofrICodd:

Options:
Lord Krishna

1. = IS



Lord Rama
? % TR

Lord Shiva
3. v %'Q)Ci_‘:

TLord Vishnu
4 = <Jiloan

Question Number : 108 Question Id : 7164471608 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Central Tobacco Research Institute (CTRI) was established in the vear:

708385 63°eTE’ 6?::613 adeaeses (CTRI) S0 “’n:ic:»ct}ejjﬁoeﬁé guimamao&:

Options:
1. « 1947

2 % 1951
3. % 1965

A % 1973

Question Number : 109 Question Id : 7164471609 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Taneti Vanita was elected as MLA from the:

PR R L ot széejérw ;).aﬁlgcmém:

Options:
Kurnool Assembly Constituency

1 » Some» €972008) DATTaEHG0



Kovvur Assembly Constituency

9 o Fw €92008) DATTBEDG0

Dhone Assembly Constituency

3« 85 esm08) DOITFRLEDTO
» & n

Gurazala Assembly Constituency

4 (o) e92308) DAITrassco
. = 3]

Question Number : 110 Question Id : 7164471610 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Yaganti Temple is located in the:

odrcioth esercddo ‘Eé%t‘: [=TeIAYT

Options:
Kurnool district

1 v Sd_'rﬂnlm e

Chittoor district

7 % WSO B

East Godavari district

q 5 QT fHorod e

Krishna district
4. » SR

Sub-Section Number: 2
Sub-Section Id: 71644712
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 7164471611 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3



Correct Marks: 1 Wrong Marks: 0.33
Study the following line graph carefully and answer the given 308 T30 TR PIHT BE{OD0 B, WD PF) O

question. RDTTER0 Q0.

2014 ;vod 2019 HOD 2.8 0D O™ L dR Fol erg Doy (Do

Number of Soundbars sold (in thousand) by a company
from the vear 2014 to 2019

70

GO

Frob eryg Romy (Do)

20

Numbe v of Seundbary (To thow sl asssbse )

10

=
L

2016 2017 2018 2019

- 201 2018 201 2014 201
Years }'do.béhdo
2014 20805 2018 DodenTros” ol erg )T a6
Find the difference between the sales of sound bars for the Hie 5215@‘“55)" 2 8 BT S0l
years 2014 and 2018.

Options:
1. % 20,000

2 % 15000

3w 10,000

4. » 25.000

Question Number : 112 Question Id : 7164471612 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Find the missing number in the second figure.

Boctad oS B0 Do SR D

2®9

Options:




Question Number : 113 Question Id : 7164471613 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
In a code language if ‘GADOT’ is coded as ‘EYBMR", then how will ‘CLING’ be coded using the same language?

FE& arded” ‘'GADOT &0 EYBMR 7 & 52, 90 s endirhod) ‘CLING Jer 86 SohetHedod?
Options:
1. = AIJIGEE

7 % AKHDE

3. % AKHEE

A. » AJGLE

Question Number : 114 Question 1d : 7164471614 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
A is the father of B. D is the daughter of C. E is the brother of A and C. F is the paternal grandfather of D. F is also the

father of A. How is C related to B?

B adwg ol A, C aing. £aorg D, A 2udoin C o PPomed E. F e o8 D adwng. oraoi(adod aivg. ¢od)
b b 2 i b 3 b

S0003D A £ ol . es0d B £ C Danadnereh?
Options:
Paternal cousin

1. & ©0& B L2060



Paternal uncle

3 W@Dﬂfﬂ)tﬁﬁ“éﬁl

Paternal aunt

3w OS

Maternal uncle

A % 20HATD

Question Number : 115 Question Id : 7164471615 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given bar graph shows the production of biscuits (in QD er6 TPD, w8 &0 o) X, Y 0ot Z e
thousand packs) by three branches X, Y and Z of a company

S0P £P00 ©) TRTR €9 D) L) EGNedD DO
over the years. Study the graph and answer the given =4 > di)s b =% (

question. [S0S°) carKDed. TPHD DB B3R, AdND DI O
Production of Biscuits (in thousnad packs) by three
branches of a company X, Y and Z over the years DAFES0 "EJDSDC‘.;.

DD DodayTred” w8 80D ding), X, Y bt Z e
Sure grod © argo ooy DY ety (Do ISyS)

2016

N
2015 | s0 B
48
T
. m 50 2015 ‘ | s0
5 2014 | a2 - a8
35 3
ay
%‘1 T
E BX A
N v 2014 . | a2 =
2013 [ 35 ] 35
4 :
i 37 oy
T Y 3 BX
g s 2013 [ 35
2012 EX 32
55
g s
0 10 20 30 40 50 60 70 2012 [ 30
Quantity in thousand packs 55
: : : : 0 10 20 30 40 50 60 70
For which of the following years is the percentage rise/fall
. . _ o DBArRo Doy IS
in production from the previous year minimum for branch
g g =
¥o Erod Y dlng) S00:0DE) Doddydo adydw DG/

acEOE TOY Sod D DodeyG0s” GaNG 8D

=0t 7



Options:

1. %= 2015
7 % 2014
3« 2016
A % 2012

Question Number : 116 Question Id : 7164471616 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given pie chart shows the percentage distribution of the RNR B TG, 2.8 DB EONED SOIFEBOIRNED RIS
expenditure incurred while manufacturing a certain product, 2§03® DD TGO BPDBOH. P G W E[ODO
Study the pie chart and answer the given question. DR, QYD DT L VATTED0 AD0C.

Direct material cost
12%

4 WOpE o sEe |

Mannfacturing
cost 30%

Direct laour cosl
15%

Advertisement
11%:

GG (30 0 GO S7) 3074 I8y D0HeBC. &od. .

The price of the product is marked 30% above the cost A0&E o6 I 5,000 evondd DOJE 57018 DHHOT0 AT
price. If the marked price of the product is Z 5,000, then Does?

what is the approximate direct labor cost?

Options:
1. & 945
? % T775

3. ¢ %1076



A % %500

Question Number : 117 Question Id : 7164471617 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33

The given pie chart shows the percentage distribution of the

expenditure incurred while manufacturing footwear. Study the

pie chart and answer the given question.

Direct material
cost

I mm 22%
T N

e

e e

S
=

Transortation 9%

Manufacturing |,
cost 30% E

cost

Advertisement
11%

What is the central angle of the sector corresponding to the

expenditure incurred on direct labour cost?
Options:
1. % 99.2°

7 % 110°

3.« 100.8°

A % 105.6°

Direct laour

28%

RN P G FOCLON BOIPMSVEDED IV
[0IPR) 023 FE0A) STDB0B. P TG
e9CIHOIN0 B WD DI £ DOFTFD0 QDL0C..

g@;}ammﬁ

dorer 9%

Bl

z Sgato 22%
e )
=\
A= 7
daird m@y
-
:)_I;Jqfu-c: S
30%
ot seye

Serde 1%

DSLE 57018 DIOIPDS 0y OO R(DETT P
Gorfo a0g), Sog Frao Joos?

Question Number : 118 Question Id : 7164471618 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33



The given circle graph shows the annual spending of the
entire country of Mozambique on importing various

products from different countries during a particular year.

Study the graph and answer the following question.

. . 480
Computer, 48 Biochemical
5, 390

Inorganic
il chemicals,
. . Rt e B 64“

Iron, steel.54 Electronics,

55']
Textile, 587

If the total amount spent on import during the year was
$100 million. then what was the approximate amount

spent on biochemicals and petrol together?
Options:
$35 million

1. = $35 Dodad

$22.5 million

7 o $22.5 BanS

$15.5 million

3 % $15.5 2B

$10 million

4. % $10 208a0D

@D‘)é DYTSE0 P, 208 :)g?g{ ‘@0&3@3@0@6 aerodls Do,
DDG BFTO D0C DDG ESYBOOR HHA JEITIS
IR0 D00 T7OE IO SIPBRN0G. TFD &) ejoide
200 S0l DF) L DATDO WDOC.

DoDSB00eS" BrHand Edo My S0 Dugo $100
Do 008, BHCIroiTren bt DTS o O
DAY BAD DOGo Jot?

Question Number : 119 Question Id : 7164471619 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33

Three of the following figures are similar in a certain way and one is different. Select the one that is different.

2od Do’ durcd 08 PBS 6AS° 2,800 Eotron BT 2,56 D) AT Eotwod. DY DT &) &I JocbEol.

Options:



ACO00
& i,
GO
o\ 09 /s
2. ®
L] O
O
3 o B B

P inge

Question Number : 120 Question Id : 7164471620 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
A sales company has only three departments A, B and C. Some people work only for one of these departments. Some people

waork for both, departments A and B. Some people work for both, departments B and C. No person works for both
departments A and C. Select the Venn diagram that best represents the people working in the departments of the above

mentioned sales company.

208 &5y S0 A, B 208010 C &5 207 D2FTros $97 God. Fosanod & Dzrmreods’ 2,808 rgdn ISP
Fotsa0d Derrren A 20000 B GofioBd DI S0, Fodanod Hyten Derrren B andoin C Bolotdd DB .
Boc Derrren A s0805n C 0% J @58 DIV, DY S0 P DEYD) ) so DerTred” DB DO
&GO AFD0D DO BardEEd) JocvEol.

Options:



Question Number : 121 Question Id : 7164471621 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Study the given table carefully to answer the following S0 DB D VDATEFDV0 QOIS QN DS s
question. 9 aD0 Boboc. F)%) GG (Do L) os°)
Production of Litchi (in thousand tons) 20380 2018 2019
Year | 2018 2019 7e°

State s 250 230

BibaE =50 230 aio.d 220 | 225

U.P 220 225

Do eh 180 200
Punjab 180 200
Odisha | 210 220 T 210 220

2018 &5° Dx6e5° DD ecnas, 2019 &5° 275 D)

What is the ratio between the production of Litchi in Bihar
p EnDS (10 DD Jots?

in 2018 to the production of Litchi in Odisha in 20197
Options:



? & 25:22

3. % 11:10

A = 14:17

Question Number : 122 Question Id : 7164471622 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given table shows the marks obtained by two QN DYE, QG DTy e X &0boin Y DB ‘@Q.%mﬁﬁ

students X and Y in different subjects. TobdD 0700 R0 BPEDE0O
%’DE? ?SJ'E-D!S X ﬁ&".:;t Q?ﬂoﬂs Y ﬁﬁ;’& Md)z,m
Subject | Student | Maximum | Student | Maximum
X Marks Y Marks i

English 60 100 55 100 2088 60 100 35 100

P.E. 75 100 90 100

Science 55 100 50 100 b2 75 100 90 100

Hindi 35 50 15 50 o5 = o s P

. . rob 35 50 45 50

What is the ratio of the mean aggregate percentage

marks of the student X to Y?
Vi apte) X 20botn Y g, Rt &0edy)© Fdo G308, AN

Joes?
Options:

1. = 65:71

? & 15:16

3. % 16:17

4w 1:1

Question Number : 123 Question Id : 7164471623 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given table shows the number of candidates who Q@ DES 2012 Sood. 2016 DodBNG0 DO
appeared for a job interview for the post of IT Executive in  2°083806°D 0 DD T°gre ol 28 erodam

an Indian bank from five different states of India over the  EP§o58° & IPSrBD HADS e85 “'-5-‘0'33‘65"55@ aFada

years 2012 to 2016. 22H 0 Do CIrRID.
tates | AP |U.P |M.P |Punjab | Bihar o 25 | o, [0, | voards | Db
5
RoDS\o > |®
Year
2012 410 | 300 | 250 | 280 | 440
2012 | 410 300 [250 |280 440
2013 | 500 400 |280 |320 400 2013 500 | 400 | 280 | 320 400
2014 | 450 450 |240 |260 350 2014 250 1250 | 240 | 260 | 350
2015 | 320 500 400 |400 380
2015 320 | 500|400 | 400 | 380
2016 | 500 430 |540 |350 420
2016 500 | 430 | 540 | 350 | 420

T . T = . =
What is the average number of candidates who appeared =N :JO@@JU“@G DoameS Tg0 Aol @omdﬁséé 20

- T 1 - 1 1 Ly ] e
for the interview from the state of Punjab in all the years® DR 1820 L0y Yoes?

Options:
1. = 398

7 @ 322

3. % 416

A % 250

Question Number : 124 Question Id : 7164471624 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given table shows the number of unemployed people N DHS A, B, C, D 0800w E &9 e3> 53¢
who applied for a job in five different companies A, B, C, D S0 &&jtio o G0arh) D) dmE e
and E and those who got selected. Study the table carefully 0§ 200010 JoDTH 70 Do CrLR0H. DHS

. 5 3. o A,
and answer the following question. OGP 9¢I0H0R0 B2, Sodd 2T 5 VAFLFD0 WD(oC..
Company Applied Selected golh Scaro dobBad
A 1000 820 A
2 5
= 2N 0 A 1000 820
C 1500 1250
B 1200 1050
D 1100 900
E 200 750 C 1500 1250
D 1100 900
. . _ o E 900 750
In which of the following companies was there minimum

308 S0AVS” IO EID FB0 &ESHHIDOR Jos
D005 ?

percentage of selection?

Options:
1. = B

2.% C

Question Number : 125 Question Id : 7164471625 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given table shows the number of different types of RN DS, DT DD DODBNT VS’ 2.8 DBE DOgIS
smart phones A, B, C and D sold from a particular F6 dood DEOVEDD DG o570 FLE TFD ew A, B. C
electronic store during five consecutive years. Study the 208oin D © Do35an aroined. PS5 eejoido B9,
table and answer the following question. Sod D) D VITFETI0 WDLOC..
Types of the Years
smartphones R ¥ Bodiy
2014 | 2015 | 2016 |2017 | 2018
gseen 2014 | 2015|2016 | 2017 | 2018
A 350 280 275 245 310
A 350 280 | 275 245 310
B 180 | 160 |155 |185 175
C 158 | 160 |150 | 160 155 B 180|160 155 185 (175
D 140 | 135 | 150 138 130 o 158 160 |150 |160 155
D 140 135 | 150 138 130

What is the ratio of the number of B type smartphones sold D) 90 D@JU“EQG D000 B 650 5“%2 Foer 205D,

in 2016 to the total number of B type smartphones sold in 5016 &° 5201093 B 550 315 P Ere) 2oL (10 DD
all the years? Joes? ”

Options:



1. = 46:175

? « 31:171

3. = 46:287

Question Number : 126 Question Id : 7164471626 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33
Study the given table carefully and answer the following
question.

Expenditure (in crore) of a company X over the years

Items of Years

expenditure 2012 2013 2014 2015
Salary 145 115 200 255
Transport 48 60 70 82
Interest on loans | 25 18 14 13
Taxes 4 35 2 6.5

What is the ratio of the expenditure on transport in the year

2013 to the total expenditure on transport over all the years?

Options:
1. = 3:4

? & 3:13

[N DOHSHD 2B [0D0 D, 80 VI D
DISETTTH0 fasjsod’;.
ED) DoDSTrenr S0 X g ajoto (Sees’)

aacd: 90T ?bn;ﬁd_)mw

2012 | 2013 | 2014 |2015
ddo 145 115 200 255
daoree 48 60 70 82

awere DS 5¢ (25 (18 14 13

davyen 4 35 |2 6.5

2013 ‘&}oa@;)doeﬁé RI0DR) CTEe® DFOITDS SOOI Dy
RODBYO™ES’ GIrEEd 90008 Ao HEITEDS o DD
J0Es?

Question Number : 127 Question Id : 7164471627 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33



In the given table. the production of Barley (in ton) of three WD DHES’, 2014 0ot 2017 20600 HO

different states A, B and C over the years 2014 to 2017 is 0070 DO U"g"v A Bandoiw CoCeo erd
o e (L) 0d") ardedod.
W 2014 2015 2016 2017 Doddyoren 2014 | 2015 | 2016 | 2017
States ma,m
A 8.2 6.8 4.2 7
A 8.2 |6.8 |42 7
B 7.6 6.2 5 54
B 7.6 |62 |5 5.4
C 7.2 s 5.8 5.6
Cc 7.2 7 5.8 5.6
What is the difference between the total production of Barley  sdbaarre 2015 20datin 2016 e65°, sumed Uﬂgﬂue‘ﬁs I=fore)
(in tons in all) the three states together in 2015 and 2016, G 900D D00 EPY ESNDS é5@°6mo?mlméﬁ )
respectively? Joes?
Options:
1 tons
1 = 1 LVSENY
3 tons

% u % mmlw

5 tons

3 v SE.Jc‘Cnlm

O tons

4 = 4] Eamlm

Question Number : 128 Question Id : 7164471628 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given table shows the record of number of students from
five different states: A, B, C. D and E of India who appeared

for an SSC exam. Study the table and answer the question that

ROND DO, GPOSETDA Db A, B, C, D svdosw E
€97 DD DD T°gre Aod SSC DOLLH DFadd
DEmgHe) B-ER SFHRN0B: DD BEEDHD0 S,

tates A B D E uvgw.n A B C D E
Years oy
2015 410 | 300 250 280 440
2015 410 300 250 280 440
2016 500 | 400 280 320 400 o im0 o o
2017 450 | 450 240 260 350
2018 3720 500 400 400 380 2017 450 450 240 260 150
2019 500 | 430 540 350 420 2018 320|500 400  |400 380
2019 500 430 540 150 420

The number of students who appeared from state A in 2019 is
approximately how much percent of the total number of
students who appeared from all the states together in that year?

Options:
1. v 22.9%

7 % 10.8%

3. % 20%

A % 14.8%

2019 & oo A Qoo 52207 DET§EOO Do, &
2058 00" 09D TPl Aot DG Do Dorgo
02§85 LA Do TBo?

Question Number : 129 Question 1d : 7164471629 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3

Correct Marks: 1 Wrong Marks: 0.33



The given table shows the number of students from five B DPES” 28 P Zog DIgDEEiLEDS” B.Tech P53 2858

different states of India who who appeared for the entrance 083 2road908°) Dt HB(W Toere DTgioe Dos) WAV,
exam of B.Tech in a particular central university over the

ears.
? orapen | radh | cin.d | Jod | HDoxrd | Suw
States | Rajasthan |U.P | M.P | Pumjab | Kerala < -

Years

2015 300 440 250 | 350 280 iﬁnbéhm

2016 400 400 280 | 400 320 2015 300 440 250 350 280

2017 450 350 240 | 260 260

2018 500 380 400 | 320 400 2016 400 400 280 400 320

2019 430 420 540 | 280 350

2017 450 350 240 | 260 260

The number of students who appeared for the exam in <l 14 A Ll = | a2 i)
2018 from U.P. is approximately how much percent of the | 2019 430 420 |540 |280 350

total number of students who appeared for the exam from 0.2 Aol 2018 & HOLL LB Demggpe Hoay, )

Q0B omen DD S6¥ doc: HOLLH DFZH dgo oo
“@03}5?36 2oeh Fresg?

Kerala for all the vears together?

Options:

1. % 12.5%

7Y @ 23.6%

Question Number : 130 Question Id : 7164471630 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

The given table shows the marks obtained by two students A WD DOS A, B 0D @it Derjgen DB dPHod”

and B in different subjects. Todd AT LR SFEDEB0D.
Subject A Maximum | B Maximum hﬁéj A Felore] B PTare)
22 L] (<]
Marks marks s ot
Mathematics |47 |50 38 |50 &= b
Physics 45 50 30 50 Gkt i 4 8. [P0
Fa8 7o 45 50 30 |50
Chemistry | 45 50 35 |50
SroddTRo |45 |50 35 |50
Biology 32 50 35 50
a5 TR0 32 50 35 50
What is the difference in the mean aggregate percentage A 208050 B Doejiher ooeo D00 PG e eh0eS
Q 2
marks of the students A and B? DYEPGR0 oed?

Options:



Question Number : 131 Question Id : 7164471631 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
Study the given graph carefully and answer the following QLN TR0 PS8 963000 32, Sob D7) €

(294 Roddyored Sonhn A bain B & dng), adyd )

(Production of two companies A and B over the ’
10

YEATs)
10 8 o
9 o 8 <
T8 < 7 O
g 7 o g b D
g : (. @ ° < O
2s <o o v, ¢ 0O
» < 0O 3 |
g€ 3 O 2
B
a 2 1
1 0
" 2014 2015 2016 2007 2018 2019 2020
2014 2015 2016 2007 2018 2019 2020 e
Years L -
oA DB 2016 &ooc 2018 H0DH SoD A &S A5 DANDGR TS0
oed?
For company A, what is the percent increase in production
from 2016 to 20187
Options:

1. % 25%

? % 75%



A » 100%

Question Number : 132 Question Id : 7164471632 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text :

Correct Marks: 1 Wrong Marks: 0.33
The given bar graph shows the total number of course books

of Science (S), Drawing (D), Hindi (H), Mathematics (M)
and English (E) (in thousand numbers) sold by a printing
company in 2017 and 2018. Study the graph carefully and

answer the following question.

NO OF BOOKS SOLD [ IN THOUSAND)

5 D H M E
TYPES OF COURSE BOOKS

cevenes 2017

— 2018

The number of Science (8) books sold in 2018 was
approximately how much percentage of the number of

Drawing (D) books sold 1n 20177

Options:

1. % 170%

7 % 133%

140%

200%

BN &6 P 2017 S0Bosn 2018 5" 2ooh Do

DEoN0AD 2y (S), groaed (D), rebd (H), redcso (M)

20830 @i (B) HPge Do Ewy s

2ooa050 (Do Foagwes®) wrbiiuod. PO e

2C350000 B30, Sofd %) L) DATFTED0 VDG

32

20

D H M E

S pse g
Ty =L

2018 &° Dgonedd 2oy (S) s o Hoay 2017 &°

== 2017

2018

13

20330}, rooh (D) XpEs e Koafes” Rodortre Joth

Teeho Eotnodd?
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The given bar graph shows the sales of a pressure cooker

from five different shops A, B, C, D and E i the years of
2017 and 2018. Study the graph and answer the question

that follows.

e WL L TETL T 7s
R

o WAL LT 70
S e w0

- LT T T L eo
AN 75

g LU LA LT 85
S R R 90

A @gg&"“""HHH““HH“H"H“H"““""H[90
ST Y s

0 20 40 &0 20 100
SALES

SHOPS
(w

m2018 &2017

What 15 the ratio of the total sales of shop D for both the
years to the total sales of E for both the years?

Options:
1. = 5:3

7 & 30:29

3. % 6:5

A = 7:6

ra&):]é &b o 2017 20bosn 2018 F‘ooa‘m:ﬁgc“e? A, B, C,
D soboin E ed e DB dostere ol 2005 b
E‘.)QETE @a}ésﬂuaj TIPIRD0R). Poal e:-c_:.go:i:::m Tied, B9

CiTobbusli] .;CJEST) 28 D DArTEdo BO0C.

. AU e nnnm g
A Y 70

o WL T, 7o
AT so

E c L T o
R R 75
g WO 85
NN NN 90
o LU L UL 90
S Y 85

0 20 40 60 a0 100
ey vy

m2018 &5 2017
Toty Foo.;':m:f;-ﬁts“e_}@‘s Goseeso D 0308, Buoddo 905D,
Dot RoDdeorod’ @ostEo E 0o, oo 90y 5e

(0 DG Joes?
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The given bar graph shows the profit made by a cosmetic @Q&é er6 PO 2014 Hood 2018 HELH Engaéeg,g ok
company (in thousand $) from 2014 to 2018. Study the e, erero (Do § &) arinE0d. PO

eraph and answer the following question. eocsgamido S 306 O 96 30 @i &

Profit in thousand 5 10 § o
erio e

''''''

o o

i Profit in thousand &

G e Do § e’

What is the ratio of the number of years in which the profits Ame5® eraren, Dritw erare) godd ey &) RoDdET

bove ave fits to those in which th fits
are above average profits ose m which the profits are o0mE> SBAID EFEeD, Bk ERe Cof By, I ey

below average profits?
P00 030§D (f0 DD Joid?

Options:

1 = 2:3
? & 3:2
3. 0% 1:2
4 =& 2:1
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The given bar graph shows the sales of an electric motor (1n @,5&;, erd P 2017 S0bain 2018 rgc.;]@:}guens“ S

thousand numbers) from five different shops S1, 82, 53, 54 ;663:5; - S1, S2, S3, S4 3080H0 S5 Hrod ;]Ugé

and $5 mn the years of 2017 and 2018.
DT e0530) BP0 (D025 ?bomlgtff) EITR008.

wlgTw (Dud')

mefims }]]  —— 1

GO
il 2017 —— 2018

The total sales from S1 for both the years is approximately ~ 006 R0SETL 51 U5 Es0 Ao 0N Do
how much percent of the total sales from S5 for both the 29530} 5oeL, Jotd) DoddnDrws) 55 s o 200 90008
vears? D00k 9L SRS” Joth Foeso?

Options:
1. « 117%

7w 110%

3. % 100%

A % 95%
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Study the given circle graph carefully which shows the 25 D83} DoDdST0S” a8 B30, TS B30 Mol NG &SyBOOR
expenditure of a country in terms of importing varions ~ OMOS SOEHEEIS DD SHFOITD) ATV TTEC TEDD
products from another country during a particular year ~ ©@§010 30 500 ) £ VATTH0 RDLOC..

and answer the following question. e clbogren, 487

Jewelery, 42° Machine, 487

P |
R
>
Cereals, 64°
-~ -'\

. I
oiLse sl I [P
; L i

;}55'3.:)53, 25*

23R, 58°
oDB3G0S” HFVR ATED ODHIS FWESHTIS DAY BRD

Electronics, 55°

20080 T 20 Fex 90208, &5 VoSG’ &1 Do DG
EABOOD) 085D BIDHIVA SPEDEIS DAY BVD Do Jod?

Textile, 58°

If the amount spent on importing only textile during the
year was ¥ 20 crores, then what was the total
approximate amount spent on importing all the various
products by the country in that vear?
Options:

Z 200 crores

1 « %200 e

Z 136.5 crores

9« T136.5 Fon

Z 140 crores

9, 140 B

7 124.1 crores

A o ¥1241 8ep
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Study the given graph of the production of tower speakers 2013 od 2017 50 Sod R cBog), 0256 &G

three ies P, Q and B over the vears and answer
y-thiree companiea £, Q y SN (10 DEODER Tedo IPHT Joes?
the following question.
20 Reddyrrod” P, O Jobaw R e Juor £chle bab bysf edyd (Jod)
Production of Tower Speakers (in thousand numbers ) by three
companies of P, @ and R over the years

T o e T iz

T T A « : T
e e e i e S i e R s 4 o §—I i
007 4 0

016
2016
gq 5
2015
s g SRR
e 1014
S ree )
m3 | 35 013
2012 012
= as ] 45
o 10 20 30 40 50 &0 o 10 0 30 40 (4] &0
Quantity in Lakhs DBATFOe uiod
ok ga @F prCcCaar
What is the approximate percentage increase in the S0 R ding), 06 80 edyGes” 2013 dod 2017

production of tower speakers of company R from 2013 to T R I s - .
20177
Options:

1. ¢ 22.22%

7 % 60.5%

3. % 50.34%

A % 65%
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The given pie chart shows the percentage distribution of the @) R &g LdD lenngel €903 sHfoiTR Do
expenditure incurred in manufacturing an oven. Study the ~ F°T°0) SIFEDS000. P TG K0 GOS0 B Sod DF) O

pie chart and answer the following question. DATTF0 QOE.

S 0K
=2

Transortation 5% ~, . ..
Cloth 0%

Direct material
cost
2209

Manufacturing

L2 aing), 60, Effen o6 5083 20% 2o
SGocsetiod. LD i) dwdouectd o6 $ 100
The price of the oven is marked 20% above the cost price.  esoxad, esoird SO0 RN Jogs?

If the marked price of the oven is $100, then what is the

approximate manufacturing cost?
Options:
1. = 520

7 & $25

3. % 845

4, % 550
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The given bar graph shows the data of the production of

chocolate (in thousand packs) by three branches B1, B2 and

B3 of a company A

Production of Chocolate (in thousand packs) by three branches
of a dairy product companies B1, B2 and B3 over the years

2018

2018

Years

2015

B53 mB2 BBl

Quantity in thousand packs

What 1s the ratio of the average production of branch B3 in

RoddyTun

BN &6 TP, 208 Do A 0I0g), 20D grod e Bl, B2
0B05) B3 006 €:eG 9000 wgES (Doog Jrges’)
TR0 SDRLO.

mmwbswhm%mﬁwmm,BEm
B3 o Aoed Mbgmnmiﬁ (2owg .51!1)5']

0 10 20 30 20 50 B0 T0
BE83 mE2 BAB1
50700 Sazy dje0d’

2014 Zood 2016 56 28 see0e” grod B3 G WekD

the period 2014 to 2016 to the average production of branch &S5BS, &rod Bl G308, (kD &SnGS (0 IDND Joh?

B1 in the same period?

Options:

1. = 1:2
7 % 1:1
3. % 15:16

A 27:25
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The given pie chart shows the percentage distribution of the NS P G ESS o b eocly spare S026% T
L gl

expenditure incurred in manufacturing microwaves. Study the pie SrEpas0d. D TrE B esgehdo 3 dob %) Harmso

chart and answer the following question. .

BIOC.

Direct material cost
2203

Advertizement 1080
Dt 10%

Manufacturing

cost 300

dairb e 30%

Direct labour cost

D 50 S
2608 ]

;5_3053{} 26%

Transportation 12%

dorre 12%

If 10 microwaves are manufactured and their manufacturing cost 10 208550 doird dobad, 78 aoird g0t 100,000

amounts to 100,000, then what should be the selling price of the  ¢90358, G0\ OR0g), ©920) ) 656 Joed €083 BoIFBr 20%

product so that manufacturer can earn a profit of 20%? erdy SR P

Options:
1. = 25,000

9w 75,000

3 % 42,000

4. » %40.000

Question Number : 141 Question Id : 7164471641 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
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What is the mode of the following data?

S08 G0 CIVE), EPLPOTEID IDE?

[3:22 U119 22 12934 1T 15
Options:

1. = 15



2. v 17

3. 08 22

A4 s 19

Question Number : 142 Question Id ;: 7164471642 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33
What is the standard deviation of a data set if the data set has a variance of 0.367

P03 DAA 0.36 DY SO €083, B5TPoF DA 0IE), FOFBE DIVD0 Jotd?
Options:
1. = 0.216

2. v 06

3 % 04

4 = 6
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The given table shows the record of the number of
students from five different states of India who got

selected in the interview of a certain private job over the

years.
States | A B C D E

Years

2015 300 | 440 | 250 350 280
2016 400 | 400 | 280 | 400 320
2017 450 | 350 | 240 260 260
2018 500 | 380 | 400|320 400
2019 430 | 420 | 540 280 350

What is the mean of students who got selected from the

state B for all the given vears together?

Options:
1. = 400

7 % 258

QN DHS ED) DoDBTRTP 208 DS DDE &:8To
alog), faoe,)ci}'ﬁsis@“ owBD POBBFS™D DA DI Togro
DI TGO SAIFR000).

m%vw A B C D E
‘1'-\'305393;)0‘
2015 300 (440 |250 | 350 |280
2016 400 |400 |280 |400 |320
2017 450 | 350 |240 |260 |[260
2018 500 380 |400 |320 |400
2019 430 | 420 |540 |280 |350

QN 9y DoDSNT EBD T B Aol JonZd
DI DTID Joth?
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The given table shows the marks obtained by 50 students in an exam.

Marks 15 25 30 20 24 28
Number of n
Students 10 12 3 6 4 10

What is the mean of the marks obtained by the students?

B HAE 28 H82S" 50 0k Drrgdoen Todd SV BFDAVR.

Ard) e 15 25 30 20 24 28

Dmagav a’anmﬁ 10 12 8 6 4 10

Ejmnégjw TobSad Qo) © RVTW Joeh?

Options:
1. « 23.72

3. % 29.65

Question Number : 145 Question Id : 7164471645 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33

Which of the following options will be the coefficient of variation of the data 600, 470, 430, 300, 170?

3od aredeS” 600, 470, 430, 300, 170 cmrodo oiué& D306 DEto DE?
Options:
1. = 0.6l

7w 037

3. % 085
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Which of the following option will be the variance of the following data?

208 Joargees” Aol 0d GEroFo a308), e0BC0 (éﬁctij.%g] DB?

100, 200, 300, 400, 500
Options:
1. « 20,000

2 % 50000

3 % 60,000

4. % 80.000
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The given pie chart shows the percentage distribution of
the number of students from different provinces pursuing
their masters from a certain university. Study the pie chart

and answer the following question.

Harvana ¥ ¢

Dielhi 30%%

Bihar
25%

Gujarat 11%

What is the central angle of the sector corresponding to

the number of students from Gujarat?

Options:
1. = 32.4°
7 v 39.6°

L
L
=}

3. = 45

A % 368°

QN P TG 2 DBIE DB(DTEHO00 Aok AP0y
Ex)ﬂ“ﬁ‘@;c‘:}l DG FromEe) Sod DN DEEgER Doy
T308); Do FTEEY) GrORed. P G edioido S
808 03 5 VATV QDG

harsd 11%

DBT°D 0C DN DTPHER DO RVIDEIOTT (1) o0
Era0 D067
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Study the given bar graph and answer the following Q)N e8P0 Eado 30, 308 HF) D VATTTdo
question. EE N
B dios), aﬁéé abogre), DOSTCO Jrbaddien

China’s Electrical machinery, equipment Exports
2019

& 380

2019 ;

2018 T :-

20u7 e o e e el e '.'.-'. .' e e

Years

[i] 100 200 300 400 500
o 100 200 300 400 500 DbATEe [ Dend
Quantity fvalue 2] :)ﬂa}‘m;‘)ﬂnaw_liﬁf‘ 2] :}ma?g,.xj‘

i QodEGo, Doy 3°5§ aing), Ded (BT &ob?

B Quantity in thowsand tons Evalue in crore

In which year was the value per thousand pack the
maximum?
Options:

1. % 2015

7 % 2016

3 % 2018

A » 2017
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The given bar graph shows the data of the production of BNDS 76 TD 28 Do A TRty JaPED grod en Al, A2
water purifiers (in thousand packs) by three branches A1,

A2 and A3 of a company A.

20Bain A3 orTe b LPyBnons (Do RS’ e

GG BePR) arDR0B.

Production of water purifiers {in thousand packs) by three
branches of a company A1, A2 and A3 over the years mmﬂmmﬁﬁmwmgﬁwm.ﬂ

Dodoin A3 oo b Qrgdvaby edyd r.‘m)&b-asmé‘p

Fiith ]

piikh ]

T
mr

Hie

Years

e

SAl

Sal

o I

oo OACACOT ™

s

Jane

a4

GLEL SR e
What is the ratio of the average production of branch Alin 2016 sod 2018 H6% grod Al 0308 Drien &GS, b
the period 2016 to 2018 to the average production of branch . <, 155065 EroS A2 G008, 008 EEES (o DD
A2 1n the same period? Noes?
Options:

1. = 15:16

? % 13:15

3. ¢ 28:29

A4 = 1:1

Question Number : 150 Question Id : 7164471650 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 1/3
Correct Marks: 1 Wrong Marks: 0.33



The given bar graph shows the data of the production of
suttcase (in thousand numbers) by three branches P, Q and R

of a certain company over the years.

Production (in thousand numbers) of Suitcase by three
branches P,O.R of a company over the years

&0

Quuantity in thowsand numbers

[
LA
B

L
i
w
i

2013 2014 2015

Years

gr pDa@r

‘What 1s the ratio of the average production of suitcases of
branch P in the periods of 2012 to 2016 to the average

production of suitcases of branch Q in the same periods?

Options:

1.«

2. %

30

[—
L

31

BN &6 D B “onesyoed” a8 pdr 0% chog),
P, Q 208051 R 9 &00eehy groh © SN SR L= (:103315
R0a)e8’ o &G BT Brked.

DD Doddyor' 1.8 Hdgs Do dlngy, P, Q 2baio R e
20 pred o oo ArdEh © aoyd (Bud’)

T0

DbArae Sud
4
L=

2012 Zo& 2016 HOD grod Q ohog) LoresEhve DD
&\08, 03 Do’ grod P alug), 2ariEkue Dt

G983 (10 DG Joss?



